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JIE A2 (LR LURES i L JIE 52 [SETE LRES mEamiEL
1% [USIiRITS 1742 & 51% |REEE (GIl) 403 P
2% |(JU—2FURR7FHFY L 170 * 52% |Pyvhn—TJE 517 P
3% |HK30kg 20 526 & 53% |PyvhO—TE 631 P
4% |FKEEE 920, 1163 & 54% |ELtEBVY—4 v +E 1323 P
5% [RKEEE - 3905 ¥ 19505 9 3 5 5% |SHIVAE 330

6% |MEH 1118 p-3 56% |EIHE bke 628

7% |REEE 1529 & 57% |EIHE Kbkg 972 P
8% |[Somarig 1216 3 58% ([HJU—KRyJTa—2E 4 1

9% |[SomariE 244 1542 3 59% (HJY—FRyTa—2E 1655 o3
10% [Fv>T14¥xXv>oT48 913 & 6 0% |SHNEEIRE 1282 P
11%F |IRXNYE 510 6 1% [SHhVLEERE 59 1 o3
12% (IIRFIYME 968 6 2% |BAIKEEE 191

13% |IIRFAME 147 3 6 3% |BAIKEEE 1550

14% |IIRFAME 1764 3 64% |IREVV—=VVE 1392 o3
15% (IRIYME 1629 3 6 5% |[&IUKKEE 541

16% [ERRFZE bdke 1660 & 6 6% |&ILUKIGE 105 p3
17% (IRIYME 1681 3 6 7% |FIEE 342 3
18% (IRIME 43 3 6 8% |FIIEE 1343 3
19% |MERHE 1454 3 6 9% |khDOHHE 788 3
20% |—EE 1769 3 70% |khDOHHE 1509 3
21% [HhD7YV)2XXE 751 7 1% |RhEER 1748 3
22% (LWHHE 470 3 7 2% |TappieE 104 3
23% |ENEE 1466 3 7 3% |Tappie&E 786 *F
24% |ENEE 897 3 74% [CIF5UT7A4RE 207 Py
25% (BxE 592 75% |CIE5UT7MRE 298
26% |2xEH 407 3 7 6% |BIXLGEER 1468
27% [HhAZTE 1687 & 77% |[2742VL59XE 829 3
28% [AhEE 1885 7 8% |GHiI=fEE 1321
29% |ERWE 1511 & 7 9% |ECC Jr. JIRKE 1086
30% |EEE 1606 =3 80% (&£FEEHREE 42 &
31%F [REXRLvAE 1535 & 81% |&FEEHR=EE 1563
32% (XLZFE 948 3 82% |&FEEHR=EE 480
33%F [FHITAE 1305 & 8 3% |bLVBLLAE 134 -3
34%F |ABRNFS VEE 1479 3 84% |LLVbLPAE 1788 &
3 5% |nakahara& 310 =3 8 5% |Wataru Coffee & 50 =
36% | RRrO—TEBtvY +E 951 =3 8 6% |Wataru Coffee & 977
3 7% |BARBERS X E 746 =3 8 7% |Wataru Coffee & 1143 =
38%F [[TATZFE 271 3 88% |NEERARE 1965
39% |KYSEHZE 1862 89% |NEHFERARE 1562 &
40%F |KYSEHLE 1607 3 90% |NEERAHE 1715 -3
41%F |HREXREE 1337 & 91%F |REERAHE 1829 &
42% [IFPLBEE 482 & 92% |RNEERAHE 1521 &
4 3% [GAROEZREt Y +E 1609 & 9 3% [0BE(TI YY) 1416 -3
4 4% |[TAZFE 1796 & 94% [OBE(TI YY) 626 &
45% |REEE (#BE) 281 95% [0BE(TIvY) 1572
46% |HFEHE 1837 P 96% [0BE(TI YY) 902
47% [REEE (KHAE) 305 97% |KEZEEHE 798
48% [REEE (L\LIEB) 1111 3 98% |[KEBEH=E 1405
49% [REEE (T 1) 1173 3 99%F [KEBEH=E 1860
50% |A7Y) 2 XXE 1839 3 10 0% |0OBE(TI+Y) 149




